Name: ___________________		 

TRAPEZOID
A quadrilateral with at least one pair of parallel sides

[image: ]


1.	____________________________________________________________________

2.	____________________________________________________________________




ISOSCELES TRAPEZOID
A trapezoid with congruent legs

**We know that an isosceles trapezoid is a trapezoid so it will have the two trapezoid properties, plus a few extra


1.	____________________________________________________________________

2.	____________________________________________________________________


PLUS:
[image: ]

3.	____________________________________________________________________

4. ____________________________________________________________________

5. 	____________________________________________________________________



Using the trapezoid and isosceles trapezoid properties, solve the following problems.

1. In the diagram below, [image: ] and [image: ] are bases of trapezoid ABCD.  If [image: ] and [image: ], what is [image: ]?

[image: ]


2. In the diagram of trapezoid ABCD below, [image: ], [image: ], [image: ], and [image: ].  What is [image: ]?
[image: ]




3. The diagram below shows isosceles trapezoid ABCD with [image: ] and [image: ].  If [image: ] and [image: ], find [image: ].

[image: ]


4. In the diagram below of isosceles trapezoid DEFG, [image: ], [image: ], [image: ], [image: ], and [image: ].  Find the value of x.

[image: ]


5. Isosceles trapezoid ABCD has diagonals [image: ] and [image: ].  If [image: ] and [image: ], what is the value of x?





[image: ]

6.









[image: ]

7.



TRAPEZOID MIDSEGMENT

Explain in complete, coherent sentences what you learned about the midsegment of a trapezoid and how you find the length of the midsegment.





Use what you learned to answer the following questions:
1. In the diagram below, [image: ] is the median of trapezoid ABCD. If [image: ], [image: ], and [image: ], what is the value of x?

[image: ]


2. In the diagram below of trapezoid RSUT, [image: ], X is the midpoint of [image: ], and V  is the midpoint of [image: ].  If [image: ] and [image: ], what is the length of [image: ]?

[image: ]



PARALLELOGRAM
A quadrilateral with both pairs of opposite sides parallel

		
[image: ]		_______ _________________________________________


[image: ]		________________________________________________



[image: ]		________________________________________________



[image: ]	________________________________________________



[image: ]		________________________________________________





Using the parallelogram properties, solve the following problems.
[image: ]

1.




[image: ]

2. 





[image: ]

3. 



[image: ]

4.





RHOMBUS
A parallelogram with four congruent sides

[image: ]

1.	____________________________________________________________________

2.	____________________________________________________________________

3.	____________________________________________________________________

4.	____________________________________________________________________

5.	____________________________________________________________________

PLUS:
[image: ]

6.	____________________________________________________________________

7. 	____________________________________________________________________

8. ____________________________________________________________________





Using the rhombus properties, solve the following problems.

[image: ]1.



[image: ]2.







[image: ]3.






[image: ]4.

	5.

In the diagram below of rhombus ABCD, [image: ].  What is [image: ]?
[image: ]
6.

In the diagram below, MATH is a rhombus with diagonals [image: ] and [image: ].  If [image: ], what is [image: ]?
[image: ]
7.

In rhombus ABCD, the diagonals [image: ] and [image: ] intersect at E.  If [image: ] and [image: ], what is the length of [image: ]?

RECTANGLE
A parallelogram with four right angles

[image: ]

1.	____________________________________________________________________

2.	____________________________________________________________________

3.	____________________________________________________________________

4.	____________________________________________________________________

5.	____________________________________________________________________

PLUS:
[image: ]

6.	____________________________________________________________________

7. 	____________________________________________________________________



Using the rectangle properties, solve the following problems.
[image: ]

1.







2. As shown in the diagram of rectangle ABCD below, diagonals [image: ] and [image: ] intersect at E.              If [image: ] and [image: ], then the length of [image: ] is?





[image: ]





[image: ]

	        3. 



SQUARE
A parallelogram with four congruent sides AND four right angles

[image: ]


1.	____________________________________________________________________

2.	____________________________________________________________________

3.	____________________________________________________________________

4.	____________________________________________________________________

5.	____________________________________________________________________

PLUS:

6.	____________________________________________________________________

7. ____________________________________________________________________

PLUS:

8. 	____________________________________________________________________

9. 	____________________________________________________________________

10. ___________________________________________________________________








Using the square properties, solve the following problems.
[image: ]

1. 
















		2. What is the perimeter of a square whose diagonal is [image: ]?


[bookmark: _GoBack]CUMULATIVE PROBLEMS:

1. True or False: A square is a rhombus

2. True or False: A rhombus is a square

3. Which statement is true about all parallelograms? 
[a]  The diagonals are congruent.        
[b]  The area is the product of two adjacent sides.
      [c]  The opposite angles are congruent.
      [d]  The diagonals are perpendicular to each other.

4. Which property is true for all trapezoids?
     [a]  Only two opposite sides are parallel.
     [b]  Consecutive angles are supplementary.
     [c]  The base angles are congruent.
     [d]  All angles are equal.


[image: ]5.


[image: ]6.


[image: ]7.

[image: ]8.

5.

[image: ]9.


[image: ]10.


[image: ]11.





12. What is the perimeter of a rhombus whose diagonals are 16 and 30?



		

13. In rhombus ABCD, with diagonals [image: ] and [image: ], [image: ].  If the length of diagonal [image: ] is 12, what is the length of [image: ]?
[image: ]



		14. In the diagram below, quadrilateral STAR is a rhombus with diagonals [image: ] and [image: ] intersecting at E.  [image: ], [image: ], [image: ], [image: ], [image: ], [image: ], and [image: ].  Find SR, RT, and [image: ].

[image: ]
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AD = BC
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image30.png
In the accompanying diagram of isosceles trapezoid ABCD, AB = CD. The
measure of £B is 40° more than the measure of A, Find m.A and msB

B, ¢
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If the measures of two opposite angles of an isosceles trapezoid are [2x + 20)° and
{3x)°, what is the value of x?
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image49.png
In parallelogram ABCD, diagonals AC and BD intersect at E. If BE = 4x - 12 and
DE = 2x + 8, find x.




image50.png
In the accompanying figure, ABCD is a parallelogram, mzA = (2x + 35)°, and
msC = (Sx - 22)°. Find the value of x.

) c
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In parallelogram DATE, m<D = (3x - 20]° and m£A = (2x + 30)°. Find x.
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In the accompanying diagram, WXYZ is a parallelogram, line YZ is extended to
point ¥, WZ = VZ, and mzV = 50°. Find msZWX

W X
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**We know that a rhombus is a type of parallelogram so it will have all
five of the parallelogram properties, plus a few extra.




image54.png




image1.png
base

base

leg




image55.png
In the accompanying diagram of rhombus ABCD, the lengths of sides AB and BC are
represented by 3x - 8 and 2x + 1, respectively. Find the value of x.

[>) C

Dxet
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In rhombus ABCD, the measure of ZA is 30° more than twice the measure of £B.
Find mB.
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In rhombus ABCD, the measure of angle A and the measure of angle B are in the
ratio 2:1, AB = 2 + 8, and BC = 5x - 10

@) Find the measures in degrees of angle A and of angle B
{b) Find the perimeter of rhombus ABCD.
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In the accompanying diagram of rhombus ABCD, diagonal BD is drawn and
msC = 50°, Find mzADB
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**We know that a rectangle s a fype of parallelogram so it will have all
five of the parallelogram properties, plus a few extra.
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In rectangle ABCD, AC = 2x + 15 and BD = 4x - 5. Find x.
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In rectangle DATE, diagonals DT and AE intersect at S, If AE = 40 and ST = x + 5, find
the value of x.
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**We know that a square is a type of parallelogram so it will have all
five of the parallelogram properties. It is also the combination of @
rectangle and a thombus so it will have all the properties of both
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In the accompanying figure, ABCD is a square, AB = 5x - 10, and BC = 2x + 20. Find
the value of x.
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Which one of the following statements is not true for all parallelograms?
A) Opposite sides are congruent. C) Opposite sides are parallel.
BJ The diagonals are congruent D) The diagonals bisect each other.
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A parallelograrm rust be a rectangle if its diagonals
4] are congruent

BJ bisect each other

CJ bisect the angles to which they are drawn

D) are perpendicular to each other
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4 quadrilateral with four congruent sides and an angle measuring 60° rmust be &
4] trapezoid B| rectangle Q) square D) rhombus
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Which one of the following figures can nof have both pairs of opposite sides parallel?
A] rectangle C) trapezoid
BJ parallelogram D) rhombus
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In the accompanying diagram of isosceles trapezoid ABCD, AB I DC and
diagonals DB and AC intersect at E.

3 <

Al 8

Which one of the following statements is nof true?

A] AC=BD C] ACBA = ADAB
B| £CDB=.DBA D) aADC = AABC
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In parallelogram ABCD, diagonals AC and DB intersect at E. Which one of the
following statements is always true?

A] Triangle AEB is congruent to triangle AED.

B] Triangle AED is isosceles.

C] Triangle ABD is a right triangle.

D] Triangle ABC is congruent to triangle CDA.
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If the lengths of the diagonals of a rhombus are 10 and 24, find the length of one side
of the rhombus
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